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w97 9¥/Question paper for assessment of suitable for compassionate appoint in Group-'C’

post on compassionate ground for under graduate level
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FA 3i&/Total Marks- 100 faf/Date: 11.08.2025
o HT/Total Section : V(Four) FAA/Time: 90 minutes
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AT AT ST /Please read below mentioned instructions carefully and in case of any

ambiguity and confusion, English version to be followed.

$T9T-U/Section-A: HHT SAPTRSAT-20 3H (e 9o 1 37, Fel 20 9eT)/General awareness-

20 marks (Each question 1 mark, total 20 questions)

smaT-di/Section-B: FHARY. Faf TE dF-25 Ik (FAH WA 1 3IH, Fo 25 waT)/General

Intelligence and reasoning-25 marks (Each question 1 mark, total 25 questions)

saT-H/Section-C: 3/Re1TONd-25 3% (Fed WRaT 1 37, o 25 WRaA)/Arithmetic-25 marks (Each

question 1 mark, total 25 questions)

HT-81/Section-D: aofaTcH® - 30 3 (FAF 6 3iF Fpa 07 wea| 3TAf Fr gt 05 ST @
3d¢ AT 8rem)/Descriptive-30 marks (Total 07 questions of 6 marks each. Candidate has to
answer any 05 questions) |,

-

HT9T1-u/Section-A
AT ARTERSd/General Awareness
(Question no. 01 to 20)

1. A 26 ¥ qET AT AGF =9 § 3 Fger 4T T30 /Who was appointed as the 26™ Chief Election

Commissioner of India ?

A)ITSTE FHT/ Rajiv Kumar C) SITH9T FHTL /Gyanesh Kumar

B) &, T, T /T. N. Seema i D) g?ﬁ?vf =T /Sushil Chandra

2.m@ﬁzﬂﬁ§mw%ﬁmﬁﬂﬁﬁ'ﬁaﬁ'ﬂzﬂﬁzg@mﬁ%&r%%@éﬁﬁaﬁmwﬂ%ﬁhe'

"Nisar" satellite, recently launched by ISRO in collaboration with NASA, is primarily designed for:



A) T4 % aTgdt FITAT FT 57£977/ Studying the Sun's outer corona

B) STeraTY TiLee & qarat  forg qeft £ wrag #1719 =01 /Mapping the Earth's surface for climate change
impacts

C) HTT U F ATqHET #T @IS /Exploring the Martian atmosphere

D) 29 af¥ey HHTT /Deep-space communication

3.Ctrl, Shift sic At 1 @ﬁ'ﬂﬁ‘ FET SATAT 2 /Ctrl, Shift and Alt are called _ keys.
A) HeTTer/Modifier

B) wa#eT/function

C) sr=wr=gafi= /Alphanumeric

D) THTIE/Adjustment

4. TS T HIRIRI3HT F1 Sfiaet FTeT = 81T & /What is the life span of RBC ?

A) 10 &= /days C) 20 &= /days

B) 120 f&=7 /days D) 90 %=1 /days

5. T HLHIT F A i Fatarsi 1 srgafaa gt (ALMM) 7 =7 & f & & 9539 £ /The Indian

government's "Approved List of Models and Manufacturers" (ALMM) is primarily associated with which
sector? ) ;

A) sitErHTETE S AT /Automobile C) |1 =T ITFIIT /Solar energy equipment

manufacturing
D) 7& 3=/ Textile industry

B) TAT 39T /Pharmaceutical production

6. AT eI 1 (IMF) &7 LI FEl FBUT € /The headquarters of the International Monetary Fund
(IMF) is located in:

A) fSaT, RRaeedls /Geneva, Switzerland C) afRieres 2r.a., 3R /Washington D.C., USA
B) #gieh, HANHT /New York, USA D) faz=m, 3iif€ear/ Vienna, Austria

7. sfoere @= # e i 7 o EEUEIG] & /Which gas is used in fire extinguishers ?

A) A=/ Oxygen C) AITZZTSI /Nitrogen
B) 13319 /Hydrogen D) FTa STEHAFTZE /Carbon Dioxide

8. T N warTet 3 R et arex i e <t 2t &1 7 e = & P A 2 /The term

"Gig Economy" is often discussed in current economic trends. What does it primarily refer 10?

A) T2 ST 9 s IeaTee 9% swenfa sefsraeaT/An economy based on large-scale industrial

production !

B) STt AT e AHAT T FA9TET FTe AW ATS/A labor market characterized by temporary or
freelance jobs

C) F%=TT g Rafaa s=m 9% Ffad TF fHF Tumet /An economic system focused on government-

controlled industries
D) Ff% Ieatat ¥ forw us & =z F=a /A global trade network for agricultural products
9. 3T 2025 H S FRT o @ At A v Fi st £ et 8, R e dr fw o g

/Which major sporting event is scheduled to be hosted by China in August 2025, featuring various sports
disciplines?
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¢) fa=a &= /World Games

D) s Ta= &=/0lympic Games

'zf,( 5 ?
10. 2023 ¥ ST ATLATT HALTH FT 106 T FITEE

the Indian Constitution, enacted’in 2023, is significant for:

FTUI § HEAI0 2 /The 106th Amendment to

-
|

A) ] UF FAT FT (GST) & F7AT /Introducing the Goods and Services Tax (GST)

B) WaSTH $T Mg 21 a9 F F2T#¥ 18 a1 FAT1/ Lowering the voting age from 21 to 18

C) ArFEAT 37 o faueTst & afgens % oo vs-fagrs €12 smfEra #777/Reserving one-third of seats

for women in Lok Sabha and State Legislative Assemblies

D) #fds &7 & FAA T (EWS) F o 10% =07 =19 F7A1/ Providing 10% reservation for
Economically Weaker Sections (EWS)

11, Fraforfem & & frr Foe ¥ o smafis e fRarea /TAT STTET € /Which of the following is considered

a primary input device for a computer?.

A) fSizz/Printer ) FarE/Keyboard ’
B) ®ifA2Z /Monitor D) #fr#/Speaker

12. "rdY i s o & 8 uw wiig R a5 21 79F F9 7 2 /The "Fairy Queen" is a famous

heritage item associated with Indian Railways. What is its significance?

A) TZ WTLT FT T4 A4T 799 T 2 /It is the longest railway bridge in India.
B) &g ZIAT FT Ha® [T AT 91T T 2/ It is the world's oldest working steam locomotive.
C) T WTea #1 TgeAT TATHEF &9 FT A7 2 /It is the name of India's first electric train.

D) T UF =Ll THeF oA &< ¢ /It is a luxury tourist train route.

13, F 77 THE AT AERE 76 Fq F GEAE F GAF 2 A s i 792 v 7 fie Ao awe
# S[=T 21T 22/ Which major Indian festjval marks the beginning of spring and is often associated with wearing
yellow clothes and preparing yellow dishes?

A) feareft /Diwali C) == T=H1/ Basant Panchami

B) ETf1/ Holi D) Torer wqT/Ganesh Chaturthi

14. "z " FeEst T FFLTLOM qFTATofrT St § vF v Fz 64y 2 WE@TG%W‘WWW

2/The concept of "Net Zero" emissions is a key focus in environmental discussions. What does it primarily aim

to achieve?

A) Tsft FTE IS FT T4 FHTH F7A7/ Eliminating all carbon emissions immediately
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B) SeRTora FiAered T Y WAT T aTgHET & Z2TS TS HIAT F ATS Hd FHLAT /Balancing the amount of

greenhouse gases released with the amount removed from the atmosphere

Q) Taiacetim Faat F a1 s sorea o qﬁllncreasing industrial production withoyt environmental

regulations

D)T A H fe-TeFoofta So1T |1aT 1 3T &G FLAT/Shifting entirely to non-renewable ene gy sources
15. ST F T i AreTiors e & Hesf ¥ s sfeata w9sA, EPFO &T 907 &9 F47 2 /What is the

full form of EPFO, an organization frequently mentioned in the context of employment and social security in
India?

A) Employees’ Provident Fund Organization C) Educational Policy Formulation Office

B) Export Promotion and Financial Oversight D) Environmental Protection and Forest Operations

16. AT STIHT 36 % % & § ST T@AT F H1C07 e Ty arg¥ #1 v i Aot a= s = 4
SITET ST %’IWhich Indian city is known‘aé the "Silicon Valley of India" due to its prominence as a hub for

information technology?

A) ﬂ‘?r%/Mumbai C) 2aXTaTa/Hyderabad

B) A%T%/Chennai ) D) é"l'l'ﬁF/Bengalt;lru R

17. Fefefem & & wrag i g8 S 918 F19 o £ /Which of the following is the highest peak in India ?
A) BTS2 TaLE /Mount Everest C) F=sT1/ Kanchenjunga

B) K2

D) ==T 241/Nanda Devi

18. ST TLHTL ZIET "TLTAHAT SATETH AT gLt 2.0" T FT ITAIHF IT9T F9T 8/What is the primary

purpose of the "PM Awas Yojana Urban 2.0" initiative by the Indian government?
A) eTELT TS T qUT T §aGT Y& FAT /To provide free healthcare to urban poor

B) eTg<Y Tta oi¥ Hegw afty qfkam<i £F sramy sraegwarsti #1 I FLAT/To address housing needs of urban

pocr and middle-class families

Q) Q}gﬁ g1 # fRfSres arereaT 1 93147 391/To promote digital literacy in urban areas

D) IHT AT T AT TATE AZU F1 419 FIAT/ To develop smart cities with advanced infrastructure

19. e & & fra 7t it s "= feror s 3T "= fEror Y 9" F27 ST £ /Which of the following rivers

is often referred to as the "Dakshin Ganga" or "Ganga of the South"?
A) FTT/Krishna C) F1a<l/ Cauvery

B) MMETa<1/Godavari D) A9<T /Narmada

20. FET A% H "WIALATA" FT ITGTHF FT F47 € /What is the primary function of a "firewall" in a
computer network?
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A) 327z Fit T F2H1/To enhance internet speed :

B) AT Tg= T AT ST q2a+ qL&T a917 T&@AT /To prevent unauthorized access and protect network

security =
C) SET HTAT | 27 HULEIT FEAT /To store large amounts of data
D) FF U Wafda F7AT /To display webspages

#eT/Section-B

WHET deff vd d&/General Intelligence & Reasoning
(Question No.21 to 45) ‘

H

21. §&AT H@AT H AT FAT HTI: /What will come next in the number series: 7, 10, 16, 25,37,?
A) 50 C) 54
B) 52 D) 56

22. 7f& CAT®H 24 3R DOGHT 26 for@r Srar &, @ LION &Y ¥ for@r Siean /If CAT is coded as 24, and
DOG is coded as 26, how will LION be coded?

A) 48 C) 52
B).50 C) 54

23. 3fFeX : JEqATe :: fAETF :?/Doctor : Hospital :: Teacher :?

A) ¥el/School C) Rrem/Education .
B) @1F/Student D) W/Book

24.@:?@11#@mﬂmamm@wm#mﬂmm#ﬁm@m*sﬁﬂﬁ
¥ EI" a8 AfeT RN F R@ @ 3e ¥ B gHR Fafd &/Pointing to a man in a photograph, a

woman said, "His brother's father is the only son of my grandmother." How is the woman related to the man
in the photograph?

A) &8+ /Sister C) Tt /Aunt

B) ﬁ/Mother ; D) &¢Y /Daughter
25. HY+A/Statements:

I. @ 9= 4f& &/ All pens are pencils.

Il. $& 4 @38/ Some pencils are grasers.

A=Y /Conclusions: .

| F& 9= 3@8 ¢ /Some pens are erasers.

II. ¥ 79 YA & /Some erasers are pencils.
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A) ¥ AeF | SIFETr FTGT € /Only conclusion | follow.

B)Fa« AT || SIgHTOT FTAT & 10nly conclusion 1 follows.

C) @1t fawF | Sfi< || SIFETT FA € 1/Both conclusions | and Ii follow.

D) At oo | 3f 7 2¥ || FEr FIAT € /Neither conclusion | nor Il follows.

26. 39 ¥ faww g=q7 19 FISU/Find the odd one out: 121, 144, 169, 196, 220

i

A) 121 C) 196 4
B) 144 D) 220

27. v =afda 10 el 33 fem & worar &, AR a1d g 5 felh gerar 81 T a8 aC g 10 Rl
ToIdT ¥ 98 U URTHG ﬁg o &g feem & /A man walks 10 km North, then turns right and walks 5 km.
He then turns left and walks 10 km. In which direction is he from his starting point? '

A) 3a-gd/North-East

B) 3a3-aT¥a#H/North-West
C)‘aﬁWT—q‘:c?/South—East

D) f&iur-uf¥a# /South-West

28.'8% &Rd P, Q,R,S, T3 U 3w fer &1 3R A& & U dfda # 45 &1 Q R& & a0 &) S, dfea
FRFN HE IR TR LUFSF W | P,S&F Tard # 71¢T &1 I RO e & T &, at e ®R W
FieT d3T 8/ Six friends P, Q, R, S,/ T, and U are sitting in a row facing North. Q is to the immediate left of R. S is

at one of the extreme ends. T is to the immediate right of U. P is not next to S. If R is third from the left end,
who is sitting at the extreme right end?

A) P C)s
B)Q D)T

29.4iT g A, B, C, D 3N E &I 37cla1-3(0T el THE §: 89, Fall, T, W 3R 31%G | I4F H Fad TF
%ol 9dc ¢ /Five friends A, B, C, D, and E like different fruits: Apple, Banana, Cherry, Date, and Guava. Each.
likes only one fruit.

AFI F ar 9T 7g § 3R 7 & 3ASS/A likes neither Cherry nor Guava.
B &I ¥« THg £/B likes Apple. L.

CE?T WoX UHg a1 &/C does not like Date.

D & &aT gde g/D likes Banana.

C PleT AT B THE ¥/Which fruit does C like? .
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A) 3 /Apple C) @s[¥/Date
B) @8Y/Cherry D) 3¥&F®E IT AL/ Guava or Cherry
30 afF ¢ FTad = T ) I FT A A FwT A -, AT 15 x 3+ 15+ 5 - 2 FTHIE T E /If

1.1 Tyt ¥

'+ means '+, '-' means 'x', 'x' means '+, and '+' means '-', then what is the value of 15x3+15+5-27 .,
A) 15.6 C)3.6

B) 1.2 D)5.2

31, FI AT A "STHA, qATAT AT AETEED F AT F qG9 T TGS AFT A7 F97497 £ /Which diagram best

represents the relationship between "Animals, Tigers, and Carnivores"?

A) &9 AFT-TFT g /Three separate circles.

B) & HTHTZTET F 3127, 3T HIATZT 9947 F #i=7|/Tigers inside Carnivores, and Carnivores inside Animals.

C) wTHTETY a9 F 27, v A9, S194a7 F HA37/Carnivores inside Tigers, and Tigers inside Animals.

D) ST ATETETT ¥ 3%, 3T AiATETdT a9 % siz/Animals inside Carnivores, and Carnivores inside Tigers.

32. afy ZoT FY e "EXAM" &F 21 IR SiEad @1 ST, aY oeg F gyor wfafd® Far g1/ What is the
mirror image of the word "EXAM" if the mirror is placed vertically to its right?

A) MAXE C) EMAX

B) MAEX D) XAME

33. %/@el # HTET F41 31T B, D, G, K, P,/What comes next in the series: B, D, G, K, P,?
AU | Ow

B)V . D) X

34. ‘uﬁ "TABLE' #T 'VCYNG' & &7 # ®If2a fFar siar §, ar 'CHAIR' & g yar ifsa forar smoen/ if
'"TABLE' is coded as 'VCDNG', how is 'CHAIR' coded?

A) EJCKT ; C) EJKCS

B) EJCKS : D) EJCKR |

35. 12:144::15:?

A) 180 C) 250

B) 225 D) 289 ‘

36.A,B# gl &1 C,BH A &1 D, CH Tar #1 E, D A &1 A DF fFE yhR HfOT §/Ais B's sister. C

is B's mother. D is C's father. E is D's mother. How is A related to D?
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A) g1eT /Grandfather . C) 9¢r /Daughter A

B) 18T /Grandmother : D) 9rdlt/ Granddaughter
37. F94/Statements:

. T A e '@ﬁ s5‘/Some fruits are sweet.

1. T+t FsTzat g d® 2T £ /All sweets are healthy.

fAe#Fd/Conclusions:

|. 5 el TATESIFEF 21 & /Some fruits are healthy.

II. T Ty s His 2 2 /Al healthy are sweet.

A) ¥a=r faemd | I F7aT 2 /Only conclusion | follows.
B) Faet fAea || SIET FAT & /Only conclusion Il follows.
C) grat A | & || s 7 #/Both conclusions | and Il follow. s

D) 7 AT fArad | #fr< =1 21 || sIEeor F7a1 2/Neither conclusion | nor Ii follows.

38. =% & faww st FfSu/Find the odd one out: ACE, GIK, MNO, SUW
A) AGE C) MNO
B) GIK D) SUW

39, 7 Tz i Ao, A9 F1 AT, AT F A, A FZT, B FTAT, T BT AT AT AT AT

FET TAT 2, AT AT T2 FT 37 347 277 If white is called blue, blue is called red, red is called yellow, yellow is

called green, green is called black, black is called violet and violet is called orange, what would be the rolor of
human blood ? '

A) i /Red C) dret1/ Yellow

BYEET /Groen D) AT f1/Orange .

40. BTt wsat #r |YF FH F sgafeya &t /Arrange the following words in a meaningful sequence:
1- @ietat/College |

2- &<dr /Child

3- da+ /Salary

4- Fpet/School

5- ASTIMR/Employment

g
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A)2,4,1,5,3 ‘ C)4,2,1,5,3
B)2,1,4,3,5 4= : > D)1,2,4,53
41, FIT X U H HE&AT ¢ /Is X an even number?

aﬁu?‘r/Statements:

I.X, 4 & @smsT &/ Xis divisibleby 4.

Il.X, 6 & [T § /X is a multiple of 6.

A) Fad FYUS | gATeT &/Statement | alone is sufficient.

B)ﬂﬁ'ﬂ FU+T || AT &/Statement |l alone is sufficient.

C) &Y= | 3R 11 81 ¥adT 9 & gieT §/Both statements | and Il both independently are sufficient.

D) &}l Ut | 3R 11 v Ay g A& & /Both statements | and Il together are not sufficient.

42. &= FT T F /Complete the series: Z1A, Y2B, X3C, W4D, ?
A) VSE o C) VAE
B) USE D) U4E

43. ¥ fAf%m wiz 7, 'ROSE' #1 'TQUG' forar simar 21 3t #12 # 'LILY' %1 F3 frar Smoam/in a certain

code, 'ROSE' is written as 'TO.UG'I. How is 'LILY' written in that code? '
A) NKNA _ C) NJOZ '
B) NKNZ D) NKMZ

44, BCD : EFG :: JKL :?

A) MNO ) oPQ

B) NOP D) PQR
45, 3% ¥ fauw ersz 511 F/Find the odd one out:
A) FfT/Chair ' C) FFET /Wood

B) HT /Table & D) &= /Bench
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#AWT/Section-C
Ifora/Arithmetic
(Question no. 46 to 70)

46. TTHTH FHTIE 3T WEAH THTTAA (F154): &7 HEATH T (UGS 2025 £ 3T ITH HgT qHTIEAS

15 B IAHT AT FHTIGA AT FITAT/LCM & HCF (Difficult): The product of two numbers is 2025 and their
HCF is 15. Find their LCM.

A) 135 ) C) 150
B) 225 ' D) 125

47. 3f2 et e 7 60% a1 =+ £ i At £t @wear 320 &, a7 e § 5 gy i e et

2/1f 60% of students in a school are boys and the number of girls is 320, what is the total number of students
in the school?

A) 700 C) 900
B) 800 D) 640

48. UF gHEER 9~ WA W T Hod @ 40% 30F Foa 3fFa axar &1 3l a5 20% Hr ge 2ar g, ar
@1 oTe ufaera &1 §/A shopkeeper marks his goods 40% above the cost price. If he offers a discount of
20%, what is his profit percentage? '

A) 12% C) 15%
B) 10% D) 8%

49. T ARG SO & W Al THIEY s W UF eI 2 awt F 29,680 3R 3 awf F 10,648 @

ST 81 U FAT §/A sum of money amounts to %9,680 in 2 years and %10,648 in 3 years when
compounded annually at a certain rate of interest. What is the principal amount?

A) 8,000 C) 29,000
B) %8,800 D) X7,500

50. A U &H HT 12 AT 7 QU T FhaT &, 3N B 38 15 R & qu & ¥Far 81 9 4 R a& & awy
FH FS &, I BT A FH 2 a1 B B 3ot AW 1A e AT F QI &HW/A can do a piece of work in

12 days, and B can do it in 15 days. They work together for 4 days, and then A leaves. In how many days will B
alone complete the remaining work?

A) 5 f&s1/days - C) 4 f&=/days

B) 6 &=1/days D)7fe=1/days

1

51. U IS 60 fpai/aer & arfad & v AfRad gt a7 #c 1 IfE @ 10 feefrder sfs asr gae,

a3 A U AT WA FA 1 G FA AT AT a7 B g g Fasr §/A train covers a certain
distance at a speed of 60 km/hr. 'if it had traveled 10 km/hr faster, it would have taken 1 heur less to cover the
same distance. What is the distance covered?
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A) 300 f#1/300 km C) 360 f&#1/360 km

B) 400 f&#/400 km D) 420 f&#/420 km

52. ¥% HOAEHR AGH FT &% 1200 T HeX g1 IR sEHT das 40 HeX g, af suH oiEmm w2

€/The area of a rectangular field is 1200 sq. meters. If its length is 40 meters, what is its perimeter?
A) 120 #reT/120 meters C) 160 #HeT/160 meters

B)'140 #1I/140 meters - D) 100 #12I/100 meters

53. 7% 3x+5=2x+12 & A xF AF AT PIAT/If 3x+ 5 = 2x + 12, then find the value of x.

A)5 )8

4

B)7 D)9

)
54. A 3R B T N & U 3:5 ¥ | 10 9§ & d1e, 3R Y F A 2:3 @ | BT aAA WY FAT
&/The ratio of the ages of A and B is 3:5. After 10 years, their ages will be in the ratio 2:3. What is the current
age of B?

A) 20 a9/20 years C) 50 a¥/50 years
B) 25 a¥/25 years D) 35 a¥ /35 years .
55.720 & 3_1“1?’@3? $r g&ar 7 FITAT/Find the number of factors of 720.
A) 24 C) 32
. .
B) 30 D) 36

56. Toh ISHA AR 9 AT T FF 7o W IT1 T /a1 FT §, AT 0 et & faw 900 7mA
TS & IYANT FAT §| IHHT aediasd o1 Fiaerd F4T §/A dishonest dealer professes to sell his goods at
cost price but uses a weight of 900 grams for a kilogram. What is his actual profit percentage?

A) 9% C) 11.11%

B) 10% ; D) 12.5%

57. 12 9¥9 U& HH F1 18 Rl F qu & wha &1 6 AfRaw 368 &7 # 30 AT & q #¢ wawdr &) 8
WWSWWWNQWW#WWW%/IZ men can complete a work in 18

days. 6 women can complete the same work in 30 days. In how many days( Approximately) can 8 men and 8
women together complete the work?

[}

A) 10 f&=1/days C) 15 &=1/days

B) 12 R&=/days D) 9 &=/days

)
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58. U IAAFER T 1 own 7 A 3R TS 20 J §) AT T FoA TSI &G A1 7 (= 22/7
FT 9T HY/A cylindrical pillar has a radius of 7 cm and a height of 20 cm. What is the total surface area of
the pillar? (Use = 22/7)

A) 1056 @3t d#1/1056 sq cm C) 1232 gt |HI/1232 sq cm
B) 1188 @3 4#1/ 1188 sq cm D) 1344 g3t ¥#H1/1344 sqcm

59. %St ABC #, afg &IoT A = 60° 3R IoT B = 70° &, A FoT C FT AT 47 &/ In a triangle ABC, if angle A =
60° and angle B = 70°, what is the measure of angle C? '

A) 40° C) 60°

B) 50° D) 70°

60. efaf@a 3iest & Tefg &1 AT AT A 15, 20, 25, 30, 35/Find the mean of the following data.

set: 15, 20, 25, 30, 35.
A) 20 C) 28
B) 25 D) 30

61. frel TR oX 5% af¥s sarer 1 &3 @ 2 @St & AT WURET @@ IR THGSY S F HR 25 ¥
Tfr 71a AT /The difference between the simple interest and compound interest on a certain sum for 2
years at 5% per annum is X25. Find the sum.

A) 8,000 C) 10,000
B) 29,000 D) 12,000

62. U G URT & Widhe 30 et 5 6 # 3R URT F IgHa 44 Bl 4 € A AT FIA §| 4 FA A
Arg &1 71fa F41 &/A boat travels 30 km upstream in 5 hours and 44 km downstream in 4 hours. What is the
speed of the boat in still water?

A) 8 farafireer/km/hr

B) 8:5 Rrefi/ger/km/hr
C) 10.5 ferafirerer/km/hr
D) 10 fF#Eer/km/hr

63. & IAE #, 3FAIGAR A FT Fel IU FHA T 60% e FIHTI afe Fo HATl 1 20% A A1 IR FoI Fdl
#r IEar 15,000 of, @ 37AEaR A @ gied der HAT Y FEAT FAT §/In an election, Candidate A received
60% of the total valid votes. If 20% of the total votes were invalid and the total number of votes was 15,000,

what is the number of valid votes received by Candidate A?

A) 7,200 C) 9,000

B) 7,500 D)12,000

S —r
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64. 3 (a+b)?=100 3R (a-b)*=36 '%,'a‘r ab @t ma';im $FIT/If (a + b)? = 100 and (a - b)? = 36, then find

the value of ab. e .
A) 16 C) 48

[}
B) 32 . D) 64

65. T sinB=3/5 &, A cos O & A FAT &/If sin B = 3/5, then what is the value of cos 8?
A) 4/5 C)5/3

B) 3/4 D) 5/4

66. 24 JF x 18 JF x 12 JA AL a vF AW Urg & gART F WEAE 3 JA 3T A B WA A
T ST &1 U fRde @I 9 S0 3T a8/ A solid metallic cuboid of dimensions 24 cm x 18 cm x .12
cm is melted and recast into small cubes of side 3 cm. How many such small cubes can be formed?

A)76 ‘ C) 120

B) 48 ‘ D) 192
67. U 3tigd & IRAT 36 JHAT Bl WA BSAT FAT &2 (= 22/7) FT FAT FY/The perimeter of a semi-
circle is 36 cm. What is its radius? (Use mt = 22/7)

A) 7 @H/cm C) 21 &HT/cm

B) 14 +t/cm ) D) 28 &#/cm

W

68. 4 3l T FEH S HEA FAT ¥ A 12, 15 IR 18 & qoia: RIS B/What is the smallest 4-digit
number that is exactly divisible by 12, 15, and 18?

A) 1020 C) 1140

B) 1080 D) 1200

69. T T # 30 BT # e Y 15 a¥ ¥ AR Rerw F I N AT W A S, A T I 1
a¥ dg T g1 Rt 3Tg FAT §/The average age of 30 students in a class is 15 years. If the age of the
teacher is included, the average age increases by 1 year. What is the age of the teacher?

A)'45 a¥/years
B) 46 a¥/years b,
C) 47 a¥/years i

D) 48 a¥/years

.

70. 99 20 WA 9ipd WA FT FET FAT §/What is the sum of the first 20 odd natura) numbers?
A) 200 ' C) 400

B) 300 D) 420
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HT/Section-D:

' - gulsTA®/Descriptive

(Question no. 71 to 77)
: (| A & R 99 #7 3R AfSU/Answer any five out of seven)
71. BTeT T THATH T, S F2 WA FHY Aef-Ig-aty Avelt AT A1 g, 290 F 2ATTF AT ATF
A # F9 areE T IHow do recent technological advancements, such as the introdtiction of semi-

high-speed trains like Vande Bharat, contribute to the broader socio-economic development of the country?

72. "R A it stemeon six vk smy afE ¥ Sfraw o7 59% TA1E F7 300 F /Describe the concept

of "Digital India" and its impact on a common citizen's life.

73. AT =T Y EE F AATAT "y AT AATA FT 4T HEe 2/What is the significance of the

"Swachh Bharat Abhiyan" beyond just cleaning public spaces?

74, FAEHETF GUATAT F ATAF 3 Bt $ var F sy wfaer 1 qfwr £ s5rear 7/ Explain the role

of the Indian Constitution in safeguarding the rights and interests of minority communities.

75. 2 3T A § T AT < 2, A% 72 F gad e 7 a7 19 |7 2/What is the fundamental

difference between a planet and a star, and what is the star closest to Earth?

76. 1L Y Tt G si¥ wataweity Ruwar e+t # Fdtwoofty st #ai ¥ 7gea 7 997 7 /Discuss the

importance of renewable energy sources in the context of India's energy security and environmental

sustainability. .

77. "0 T R o "Rt SR Seft wmer Ao gor s anfeiE R # F9 e 34 2 How do

initiatives like "Make in India" and "Skill India" contribute to employment generation and economic growth?
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